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F3n = F
n

F 2n - i + F2nFn+i 

= F (F2 + F2 ) + (F F + F F _,_ )F _,_ nv n-i n7 x n n-i n n+i7 n+i 

= F3 + F F2 , + F F (F , + F J n n n+i n-i i r n+i n- i 7 

= F3 + F (F2 + 2F F + F2 ) + F F (F + F ) n nx n n n-i n- i 7 n-i nv n+i n-l7 

= 2F3 + 2F 4 F (F + F ) + F 4 F F .4 n n-i nv n-i n7 n-i n n+i 

= 2F3 + 3F F F •, 4 n. n-i n n+i 

Substituting this in (1) we get 

1 = LkFkF3n + ("DM Lk 

Therefore, 

^n-Hc + ^ ^ n - k = '̂[^a + ( " D M ] 

Also solved by Charles R. Wal l . 
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• • • • * 

(Continued from p. 138.) 

All known Fibonacci equations using F are theoretically generalizable 
to equations using F . For some examples, see [ 2] . See [3] also. 
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